N = 0l & At & Ml A

S =ES
Hy: zgsey
& SESAE Z (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=gs 217,145 238,846 A21,701
=gs2g 125,450 212,686 A87,236
=g SAE 3 125,450 212,686 A 87,236
A2 FOU=SJAAY 40,400 48,600 A 8,200
401 Al HIZ 2018 40,400 48,600 A 8,200
01 A& HI 40,400 48,600 A 8,200
OL7L FU=JAAY 35,000
OFQAN 3 A 5,400
AELHUHS S 8,984 6,669 2,315
301 et d s 8,984 6,669 2,315
04 HtSLHUHAH XA 8,984 6,669 2,315
OXNsSLHURE oFAH| 4,000 x2H x3652 2,920
oYY 3,000
OFSPIN=1 6,000&x12& 72
O =l 392,000 =10 & 392
O=Aazels Xl 150,000 » 104 & 150
OXNsgddl 2494l 500,000 =10 2 500
OXsgdgl =l 130,000& »15H 1,950
SHE 224 46,090 46,090 0
301 et d = 46,090 46,090 0
05 S& -0 -EtEEs28E 46,090 46,090 0
osalla=sg 200,000& *13H x12& 31,200
OF=J0:F= 200,000& *13H x200% 5,200
Ozoaas=g 20,000 *13F » 128 +23| 6,240
OB 43 25,0003 x69Y +23| 3,450
28 ALK 8,820 3,820 5,000
301 LAz 3,820 3,820 0
09 EAEHIE &S 2,820 2,820 0
OxoAdoEEUS 20,000& *x25H 500
OZS M A 1,000
OJIELH AL 20,000& *40H 800
OSE(FR) MsU3 40,000 13 520
MIEE4d3 1,000 1,000 0
Osd=X& 1,000
405 XHobF S HI 5,000 0 5,000
01 HatH ESFH S 5,000 0 5,000
OFUHMEZAIL (=LA X2 2F) 5,000
EArzel 21,156 97,507 AT6,351
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